SUZUKI DR650 OSR RACK HTP7-4-3B

C HAPPY-TRAIL.COM

Thank you for purchasing Happy Trails products. Our products are proudly hand made in Boise Idaho,
USA. If you have any questions or concerns about the installation of this product, please contact us

Before you begin, place the bike on a hard level surface va%TE:' e HT ouards and racks. | ;

H H en installing guaras and racks, leave a
Whe”? you have room to work. Le.ly QUt the p.arts mCl.Uded n bolts loose until entire rack is fitted. This allows
this kit and compare to the parts list in these instructions. It N the rack to move and take up differences in frame
any parts or hardware are missing, contact us immediately at J constructions. We recommend that thread locking

the number listed above. compound be used on all bolts.

Installation Instructions
Remove the upper passenger peg mount bolts.

Mount the OSR racks one side at a time. The front
mount mounts to the top passenger peg bolt hole with a
M8x60 SHCS.

The rear mounts fit to tabs on the frame. The right rear
mount uses a M8x25 SHCS bolt and the left rear uses a
M8x60 SHCS.

When all mounting points are started, then go back and
tighten up all connection points.

Bolt List:
1 M8x25 SHCS
3 M8x60 SHCS

Hardware List:

Left and right OSR Rack
Bolt Kit and instructions

-

Happy Trails Products

Rev.1 May 28, 2009 J4 HTP7-4-3B-20



